8.

Which best represents the line of best fit and a

predicted y-value at x = 507
A =2 .
. y=38x+20,y=40

A y=2x+20,y =20 & 4006 [ow)

®<umxio;u8 /\-,.3*
\ock s CIO&ET

40 10 th
20

19. Arecord-store owner kept track of his sales over
the course of one day. He categorized the sales
based on whether the sale was a CD or a record,

A0 y=2x+10,y=20

and he recorded the sales of jazz, classical,
and blues albums. He calculated conditional

frequencies of his sales and made the table below.

cb 0.05 0.13 | 0.38

[Record | 0.28 | 002 | 032 062

[Total | 033 | 022 | 045] 100

Which prediction is true regarding the
distributions of CD and record sales?

\ If there were total 100 sales in one day,
i 5 of those would be blues CDs.
If there were total 100 sales in one day,
28 of those would be jazz records.
\A If there were total 100 sales in one day,
62 of those would be CDs.

R if there were total 100 sales in one day,
20 of those would be classical records.

20.

Afarm agency's staff tracked the amount of
rainfall that farms of similar size and crop type
experienced during one summer. They also
measured that season’s crop yield. The staff
plotted these findings on the scatter plot below.

y Crop Yield

vs. Rainfall
20,000 et s
18,000 m]f.
16000 |——|1* [*]e"4 o
14,000 L
12,000 |t
10,000 |2
a000 -2 18
6,000
4,000
2,000

Crop Yield
(in bushels)

—
0 2 46 8101214161820

Summer Rainfall
(in inches)

What is most likely true about the relationship
between the two variables in the scatter plot?

@ _3Qmmmma_‘m.s_ﬂm__wmma_‘03@_<oo:m_mﬁma<<_5
an increase in crop yield.

\ Increased rainfall is not correlated with
an increase in crop yield.

\\. Decreased rainfall is strongly correlated
with anincrease in crop yield.

?" Decreased rainfall is weakly correlated with
an increase in crop yield.
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What is one conclusion that can be made regardin

evidence from the table,

Nuow Q?Prmn\

walkers, ,Qo_ﬁm. and vehicles that crossed Golden Bridge over the
rded their data in the two-way frequency table below.

Golden Bridge Traffic

R SIS

653

g cyclist traffic over Golden Bridge? Base your response on

o wiekends, o

SNolac Vin
UV ,

D«Ct(v\ﬂi.

but 200 dhan whicles

Mhan  waldens
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A. Calculate the residual for one x-value. Show your work.

x-value:

After graphing the data in a scatter plot, she determined the exponential curve of best fit to be y =128

A. Inthe equation of the exponential curve, what does the constant 12 represent? Give your answer in terms
of time and home computers.

I+ wWase

residual:

>

cy of bes at was drawn.
B Use the concept of residuals to comir on the accuracy of the iine

duals to ¢ ent th f best fit that d

P!

B.  Inthe equation of the exponential curve, what does the coefficient 0.486 represent? Give your answer
in terms of time and home computers.

.

LLC

P P PR

N
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24. Thecensus determined the population of nine

cities and towns in the same region of the country.
These populations are shown in the table below.

[IIOO<Q _ N‘. gﬁm \u
Buxtonville |, B T NL (10

| Greenfield | 31588 v 3, wmm
Bridgetown 52003 /| e, 90¢
StoneRidge | 12,697 v Q..: 336
Fremont 41,336 V7 Yo, LAy
East Bend 74,015 < w__ 0 S
Cherry Brook 46,296 v/ 4015

| Junction City 612,472 d

Liz,412

The census workers determined the average population in these locations to be 103,521 people.

A.  Whatis the median of the populations? Show your work.

41,330

B.  Ifthe census workers want a value that best describes the center of the data set so that they may
accurately characterize the typical population of a town or city in the region, should they use the mean or

emamgmwﬁw:ﬁg.. o e ;\V
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25. An employment agency tracks the length of time that workers sta
reseaiched two companies, they created the two lists below, repi
employees have been working at their respective companies:

vandy's Vecwums 2.0.6.6, XA 8, ZA X x5 VNV, T, 2 ) 2,6 3,4,$,5 6,8
Bart’s Brooms: VA E\\\&N\ ¥4 m\\Nw w7 e, 2,2,2, m@@_ Q\ 4\ 2,1y 1S

After tabulating the years of employment, the employment agency wants to com
the data can be better summarized.

y with one company. When its staff
resenting the number of years that all of the

pile the findings into a chart so

A Using the data, create a box plot for each company on the graphs provided below,

Vandy’s Vacuums
Employment History (in years)

Bart’s Brooms
Employment History (in years)

o[ T 1

| | ] [ S S [

P pe— I & Tt

e —————— ——— >
0 2 4 6 8 10 12 14 16 18 20 0 2 4 6 8 10 12 14 16 18 20

-

-

B.  Using the box plots you created, compare the distributions of the data from the two companies. Be sure

to describe the measures of center and the spread. III\—

J

Min: |

Max: @ _ )

mad- 3 5

Ql: LS Z

Q3. % 10-S
+Hon BB
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